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Aynı işaretli sayıların toplamı
:
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. . . . . . . .
(+3) + (+5)= 
....
 . . . . . . .
(+1) + (+6)= 
....
 . . . . . . .
(+3) + (+4)= 
....
 . . . . . . .
(+7) + (+2)= 
....
 . . . . . . .
(+3) + (+15)= 
....
 . . . . . . .
(+13) + (+5)= 
....
 . . . . . . .
(+7) + (+8)= 
....
 . . . . . . .
(+9) + (+1)= 
....
 . . . . . . .
(+36) + (+12)= 
....
 . . . . . . .
(+33) + (+51)= 
....
 . . . . . . .
(+20) + (+160)= 
....
 . . . . . . .
(+73) + (+500)= 
....
 . . . . . . . . . .
(+117
) + (+452)= 
....
 . . . . . . . . . .
(-1) + (-5)= 
....
 . . . . . . .
(-3) + (-4)= 
....
 . . . . . . .
(-2) + (-15)= 
....
 . . . . . . .
(-19) + (-3)= 
....
 . . . . . . .
(-7) + (-15)= 
....
 . . . . . . .
(-5) + (-16)= 
....
 . . . . . . .
(-1) + (-8)= 
....
 . . . . . . .
(-6) + (-10)= 
....
 . . . . . . .
(-3) + (-17)= 
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 . . . . . . .
(-4) + (-5)= 
....
 . . . . . . .
(-8) + (-5)= 
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 . . . . . . .
(-4) + (-11)= 
....
 . . . . . . .
(-3) + (-28)= 
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(-32) + (-56)= 
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Zıt işaretli sayıların toplamı:
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(+3) + (-5)= 
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(+1) + (-6)= 
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(-3) + (+4)= 
....
 . . . . . . .
(-7) + (+2)= 
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 . . . . . . .
(+3) + (-15)= 
....
 . . . . . . .
(+13) + (-5)= 
....
 . . . . . . .
(-7) + (+8)= 
....
 . . . . . . .
(-9) + (+1)= 
....
 . . . . . . .
(+36) + (-12)= 
....
 . . . . . . .
(+33) + (-51)= 
....
 . . . . . . .
(-20) + (+160)= 
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 . . . . . . .
(-73) + (+500)= 
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 . . . . . . . . . .
(+318) + (-45)= 
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 . . . . . . . . . .
(+1) + (-5)= 
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(+3) + (-4)= 
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(-2) + (+15)= 
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(+7) + (-15)= 
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(+5) + (-16)= 
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(-1) + (+8)= 
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(+3) + (-17)= 
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....
 . . . . . . .
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(+13) - (+5)= 
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(+7) - (+8)= 
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(+9) - (+9)= 
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:
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İkiden fazla sayıyı toplamak:
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(-13) - l+4l + (-1
6
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